The 1 No Trump Structure – Part I
Your most accurate contracts should be reached when one partner or the other opens with 1NT. This is such a descriptive bid (assuming it is not abused) that the partnership assets can usually be evaluated to the exact trick. Games, Slams, and often Grand Slams can be bid with relative confidence if you have the tools. Our systems over 1NT are going to be broken down into 5 parts:
Stayman and Blackwood

Jacoby and Texas Transfers

Minor Suit Transfers

Distributional Conventions

Bidding after Interference over 1NT
A. Stayman and Blackwood:
All players who have been playing this game for more than 2 weeks know something about both of these conventions. Stayman is used to find a major suit fit, and Blackwood is used to find out how many aces are held. What is amazing is how much is not known about the use of these two conventions.

Stayman:
Stayman is a convention with varied uses. Responder is going to start with this convention on several different hand types. The most common will be when he has a game forcing hand with at least one 4 card major. Next most common will be when he has an invitational hand with or without a 4 card major.. Finally, he is going to use it when he has either a minimum hand with short clubs or a bust hand with both majors. 

Game Forcing Hands:
The most common hand that will use Stayman and generally the easiest to handle. Any balanced hand of 10-14 hcps or as low as 9 hcp with good intermediates or an establishable 5 card suit that contains a 4 card major.

♠ T4

♥ KJ83
♦ KT85

♣ QT6
When partner opens a strong no trump, this hand will insist on game despite having only 9 high card points. The strength of the 3 tens and 2 eights should not be ignored. Responder will start with 2C and if opener does not rebid 2H, he will sign off at 3NT. It will be shown to be necessary for opener to always bid 2H when holding both 4 hearts as well as 4 spades. Failure to bid hearts first may result in the loss of the heart suit on some hands.

♠ AQ43
♥ J5

♦ QJ96

♣ K83
Again, responder will start with 2C. If opener rebids 2S, he will raise to game in spades. If opener instead rebids 2D or 2H, responder will jump to game in 3NT. Opener will know that responder must have 4 spades for this sequence and will convert the contract to 4S if he holds 4 spades as well as 4 hearts.


♠ KQ6
♥ A95

♦ QJT974

♣ 6
Whether or not the partnership plays 4-way transfers, responder should raise to 3NT. Responder knows that slam is remote and he should not ask a question that he already knows the answer to. The preceding statement will become one of the 10 commandments of good bidding.


♠ KQT75
♥ K97
♦ A8

♣ Q94
At the risk of alienating a large segment of my audience, I’m going to suggest using Stayman (rather than a Jacoby Transfer bid) on a hand of this type. Especially at matchpoint scoring the value of scoring that extra 10 pts cannot be trivialized. A 5-3 major suit trump fit is preferable to 3NT only when either the opponents can establish a suit before you can take your 10 winners, or when the hand with 3 trumps can score a ruff. Hands with a 5-3-3-2 pattern with non-minimum values for game will usually score better in no trump than in the major suit if opener has only 3 card support. The way to find out whether opener has only 3 card support, or the far superior 4 card support is to begin with Stayman. If partner does not bid spades, you have at best an 8-card fit, and the hand will very likely score better at no trump. Have you ever been the opening 1NT bidder with a flat 4-3-3-3 distribution when partner transfers to your 3 card major? Now when partner rebids 3NT, you are unsure whether to pass for a top or correct to 4 of the major to go with the field. If you use my guidelines, you will never pass 3NT when holding 3-card support, because you know that partner can not hold the 5-3-3-2 non-minimum that you need.  If you are worried about IMP scoring, 9 tricks can often be easier to score than 10. The same logic is applicable. 
Invitational Hands:

Invitational hand can be generally broken down into 3 types: Flat hands with 8-9 points with a 4 card major, the same hands without a 4 card major, and slightly weaker hands with a good six card minor. We will examine the last type in a later lesson, but the first two examples will necessarily start with the versatile 2C Stayman bid. 

♠ J85

♥ KQ93
♦ QJ84
♣ 83
This is a common hand that is worth an invitation to game. Responder starts with 2C, and if partner can rebid 2H he will raise to 3H to show the invitational nature of his hand. If opener instead rebids 2D, or 2S (which we now recognize denies 4 hearts) responder invites game with 2NT. Opener must alert this call, as responder does not necessarily promise a 4 card major on this sequence. 

♠ KQ93
♥ J93

♦ QJ84
♣ 83
Switching the major suit holdings from the previous hand, we will discover that responder must treat this hand slightly differently. As before, he starts with 2C. As before, if opener rebids 2S, responder will invite game in spades with 3S.  If opener rebids 2D he will invite game with 2NT, and opener will alert that responder may or may not hold a 4-card major. The difference will occur when opener rebids 2H. This does not deny 4 spades, and it becomes responder’s responsibility to find a spade fit if one exists. Unlike the stronger hand, where a jump to 3NT would guarantee 4 spades, with only invitational values, responder must rebid 2S. Opener will recognize this sequence as an invitational hand with 4 spades and not 4 hearts. Opener has the option of passing, or correcting to 2NT, 3NT, or 4S depending whether he is minimum or maximum and whether or not he holds 4 spades as well.
♠ KQ9
♥ J93

♦ QJ84
♣ 863
This time responder starts yet again with 2C. Whether opener rebids 2D, 2H, or 2S, responder will invite game with 2NT. When the opener had rebid 2D or 2S, he will alert that responder’s 2NT may or may not have a 4 card major. When opener had rebid 2H however, he will alert responder’s 2NT that it denies a 4 card major.  All of this will be proved necessary later when we change the meaning of the direct call of 2NT. 

Hands with Less Than Invitational Values:

Generally, flat hands with less than invitational strength will pass partner’s 1NT opening bid.

♠ Q963
♥ J93

♦ 84

♣ QJ83
Although we’d very much like to play this hand in 2S if partner holds 4 cards in that suit, there is no assurance that he does, and certainly no reason to believe that any contract other than 2S will be an improvement over 1NT. Pass.

♠ Q963
♥ J973
♦ QJ84
♣ 3

This hand is considerably different from the previous example. We have every reason to believe that 2D, 2H, or 2S will be a considerable improvement over 1NT, so we bid 2C, intending to pass any rebid by opener. 

♠ Q963
♥ J973
♦ J84

♣ 83
This hand is so weak that I believe the gamble of improving a likely horrible 1NT contract is worth the risk. If partner can rebid 2 of a major (it only works for the opponents), it will almost certainly be a tremendous improvement. If instead, partner rebids 2D, you have little choice but to bid 2H, expecting to play in a 4-3 fit. Partner should hold a 3 card major, or you can blame this catastrophe on his off-shape choice of 1NT. Opener will pass 2H with 3-card support, or correct to 2S if he holds 3 cards in that suit – (assuming that he has reason to believe that 2S will be a superior contract to 2H). This treatment is known as Garbage Stayman.
Blackwood:
Players who have become comfortable with the concept of one partner becoming the captain of the auction will realize that after opening 1NT, the opener can not ask for aces later. Partner is the captain. Opener can answer questions or make evaluations, but nothing more. Therefore, after using Stayman, responder should rebid 4C (Gerber) if he wishes to ask for aces, and 4NT if he is interested in whether or not partner has a maximum. Thus: 
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In the first example, Responder is asking Opener about aces, with hearts agreed as trumps. If the partnership is playing Roman Key Card Blackwood, Opener will treat the King of Hearts as if it were an ace. In the 2nd example, Opener is asking responder to pass with a minimum or to bid 6NT (or 6S) with a maximum. Note that responder promises 4 spades with this sequence, or else he would have jumped to 4NT immediately. Remember the rule…
